Y2458 2HERIRR

BFEI—-F MEFRS HEN S B 8 ¥ BE B/ 8 @B
242110 ZER BHH S HEHKRIEER | of 740,000 PR« HIRPTE AT 8
FESKKIGER | of 740,000 FSERR (KFSEST, ) nf 3,678
EREXASHEETHAD H533NHE) 21,177 A . AERRAD | A 0 BEAS 7 29
’ ¥ |memxewmEm | 0 — o 0
(DEBKRICHDSBED) '%ﬁﬁg
RERKAD | 0 ’ SEMSH | A 0
iﬁﬁ!%ﬁﬁ?)(ﬁﬁ%’ﬁ (DEBKRICHONDSBED)
B g & ! IREHKXIREE =
& BEAKREEH | 0 BHRee B & 0
RIER m 246,999 D | A 0 B @ 1
s p— - oolom TokEE | MRISE KR PN EEER - 5 NEE - TREEE mere—
<01, (SBBKEDDSED) = A 0
- TR 1L & 29 N RN o | A 0 _— Cl2E At 25
Z0ht Sl 0 o REHKXINERE ot 0 “ §E&=§g 0
ﬂﬁ% (SBEKCONBED) = A
238
- HETAITL t 192,601 S REmaAD | A 0 — L it 1
Zots t 0 RERAXATR | 7 0 SEMSM | A 1
388 P& Jal 582 J=a"F+« - SV HREAD A 0 - B =l 0
BEF |55pmpe - = 559 SHMBSCEREAD X 4,540 gcgggﬁm sEMES | A 0
RELER (HEND m 49,036 — LI NAvE BRI & 10 — BT AT 1
P
MEIER (HEIA) m 6,854 BEE —BIE IS TN | BFTE (50 0.0 SERSMY A 1
L [EEAC A sort|  |BR oo [PERmER (@M e 0 & A 1
RIS K 3,060 TEEE |_mesmaavims | @ e 0.0 LRI sEmEN
pERIAL ' SEBRSURS 8 - = . 0
s _, [|mmAo A 21,177 ms |PENINER @A |m 0 sisin B i 1
| S —
FRGEINKSE t 11,213 m=h — BB HES IR | P T 0.1 SERSY A 0
—— BT A 3,522 = A E it gﬁgaa HEIN T75EE% EPTEL AT 0 S Sl AT 2
£ _)
bk |6k Bt I 0 = |h-a | -amHesER| G | e 0.1 sEmEn | . ]
¥ AD . TR A 0 s s | PEVAYIZHGE B | @ 0 RREYY—  |mAM @A 1
RIBRE  |_memman| A 0 A | —aenesTEg B | e 0.0 S s i 0
REHBKAD | A LTI | |y [MBEEDESR| BETRIIHER WS @ 0 BROR sEMEN | A 0
HEHKRGER | of 534,000 hBE SIFhEES | BT TI5ERR EPTEL AT 0 W PR AT 36
REFKRGER | of 534,000 m WHE | DB IS B AT 1 = TR of 4,669
HERRRES | mo 1 5_5@:: cm|oten | PERIIIGR CL S T 0 . 1 R | of 1,242,712
TR
TokEE | 2RTKE RERFNES | 577 1 - @Y GEE#) | nof 144,707
HENBRAER | o 534,000 S i QOB | nof 7,951,379
BEVBERGER| nf 534,000 . B GEE®) | nof 2,088
REMERHMAAC | A 1,711 v THRREES nf 16,841
e =1 I 1,610 ZDMOESE ot 0




